RECEPTION

LOBBY OFFICE MEDICAL ROOM

Reception Lobby	Item number	Item	Quantity	Approx. cost per item	Total
	1	Soft seating sofa	1	£600	600
	2	Soft seating chairs	2	£200	400
	3	A2 clear display boards	3	£50	150
	4	Coffee table	1	£100	100
	5	Welcome wall mural	1	£3,000	3000
	6	Large potted plant	1	\$80	80
Reception Office	Item number	Item	Quantity	Approx cost per item	Total
	7	Office chairs	2	250	100
	8	Desk/workbench (full width)	1	£300,00	300
	9	Under desk drawer unit	2	€100	200
	10	Radios	8	€250	2000
	11	Phone (to match current school system)	1	£200	200
	12	Filing cabinet	1	£200	200
	13	Tall cabinet	1	£300	300
	14	Low cabinet	1	£250	250
	15	Small safe	1	£1,000	1000
	16	Desktop printer	1	£300	300
	17	Computer, keyboard, mouse	1	£750	750
	18	Display board (small)	2	€50	100
	19	Display board (large)	1	£100	100
	20	Recycle Bin	2	£15	30
	21	Confidential bin	1	£130	130
Madical Room	Item number	Item	Quantity	Approx. cost per item	Total
AMERICAN STREET, STREE	22	Sinkunit	1	€265	265
	23	Wall mounted cabinet	1	£125	125
	24	Under cabinet fridge	1	£230	230
	25	Medical resources / stationary	1	£250	250
	26	Tall cabinet	1	€300	300
	27	Display board (small)	1	£50	50
	28	Paper towel dispenser	1	£30	30
	29	Uniform stock	1	£1,000	1000
	30	Small potted plant	1	£30	30
	31	Recycle Bin	1	£15	15
	32	Bin	1	£20	20
	33	Medical waste bin	1	£30	30

STAFF AREAS

WORKROOM DIRECTORS OFFICE STAFFROOM KITCHENETTE

Staff Workroom	Item number	ltem	Quantity	Approx. cost per item	Total
	34	Desk/workbench	1	£300	300
	35	Office chairs	3	£50	150
	36	Tall cabinet	1	£300	300
	37	Follow-You Printer	1	£2,500	2500
	38	Bin	2	The second secon	40
	39	Recycle Bin	2	£15	30
	40	Display board (large)	1	£100	100
	41	Under desk drawer unit	2	£100	200
	42	Phone (to match current school system)	1	£200	200
	43	A1 paper trimmer	1	£230	230
Director Office	Item number	Item	Quantity	Approx. cost per item	Total
	44	Tall cabinet	1	£300	300
	45	Lowcabinet	1	£250	250
	46	Desk/workbench	1	£300	300
	47	Office chair	1	€50	50
	48	Meeting chair	1	£50	50
	49	Under desk drawer unit	1	£100	100
	50	Desktop monitor	1		100
	51	Bin	1	The second secon	20
	52	Recycle Bin	1	£15	15
	53	Display board (small)	2	€50	100
	54	Phone (to match current school system)	1	€200	200
	55	Clocks (throughout building)	12	CONTRACTOR OF THE PARTY OF THE	180
Staffroom	Item number	Item	Quantity	Approx. cost per item	Total
	56	Soft seating	2	2600	£1,200
	57	Meeting table with 8 chairs	1	£1,500	£1,500
	58	Coffee table	1	£100	£100
	59	Recycle bin	1	£15	£15
	60	Staff lockers	1 1	€500	£500
	61	Interactive screen (in keeping with current school solution)	1		1500
	62	Outdoor seating	3		£1,200
	63	BBQ for events	2	HIDOTOCK CONTRACTOR OF THE PARTY OF THE PART	£320
	64	Large potted plant	3	082	£240
	65	Bin	1	£20	€20
Staffroom kitchenette	Item number	Item	Quantity	Approx. cost per item	Total
	66	Wall mounted hot tap	1	£430	430
	67	Cold-water dispenser	1	£300	300
	68	Paper towel dispenser	1	£30	30
	69	Kitchen equipment (cutlery, drawer tidy etc)	1	£200	200
	70	Dishwasher	1	£300	300
	71	Microwave	2	CHAIRE POR SHARE OF THE PARTY O	140
	72	Fridge / Freezer Combi	1	£350	350
	73	Recycle bin	1		15
	74	Bin	1	The state of the s	20

MEETING AREAS

PARENT MEETING ROOM THERAPY ROOM CAFE MULTIUSE HALL

Parent Meeting Room	Item number	Item	Quantity	Approx. cost per item	Total
and the second of the second promotion and the second seco	75	Soft Seating or tabled seating (tbc)	4	083	320
	76	A2 display frames	3	£50	150
	77	Coffee table	1	£100	100
	78	Interactive screen (in keeping with current school solution)	1	£1,500	1500
	79	Recycle bin	1	£15	15
	80 81	Bin	1	£20	20
	81	Small potted plant	2	£30	60
	82	Low cabinet	1	£250	250
Therapy Room	Item number	item	Quantity	Approx. cost per item	Total
The second secon	83	Bean bags	5	£30	150
	84	Small group table	1	£300	300
	85	Interactive screen (in keeping with current school solution)	1		0
	86	Bin	1	€20	20
	87	Recycle bin	1	£15	15
	88	Dimmable and colour changing lighting	1	£120	120
Café	Item number	Item	Quantity	Approx. cost per item	Total
	89	Kitchen and serving counter - fixtures and fittings	1	£10,000	10000
	80	Bar stools	3	THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN COLUMN TRANSPO	150
	91	Countertop air fryer oven	1 1	The latest	150
	92	Microwaye	1		70
	93	Kettle	1	-	30
	94	Toaster (large)	1	£50	50
	95	Cold-water dispenser	1	0063	300
	96	Blender	1	\$40	40
	97	Dishwasher	1	CO. STATE OF THE PROPERTY OF THE PARTY OF TH	300
	98	Hot plate trolley	1		2000
	99	Espresso machine & Grinder	1		550
	100	Kitchen equipment (utensils)	1	CONTRACTOR OF THE PARTY OF THE	150
	101	Dining tables & chairs (30 students)	5	£1,000	5000
	102	Till (metching schools current system)	1	£500	500
	103	Interactive screen (in keeping with current school solution)	1	£1,500	1500
	104	Computers with screens, keyboard, mouse	3	£750	2250
	105	Breakfast bar benching	1	£500	€500
	106	Potted indoor plants	6	£30	180
	107	Food stands (crisps etc)	1	£150	150
	108	Food transport trolley	1	£70	70
	109	Signage/Mural	1	£1,500	£1,500
	110	Menu board	1	£150	150
	111	Cutlery trolley	1	£120	120
Multiuse Hall	Item number	Item	Quantity	Approx. cost per item	Total
	112	Lu Interactive Projector	1	£15,000	15000
	113	Table tennis table and equipment	2	£300	600
	114	Bean bags (moveable soft seating)	5	£30	150
	115	Essential indoor sports equipment (balls, mats etc)	1	£2,000	2000
	116	Free standing basketball hoop	1	£2,000	250

CORRIDORS CORRIDORS CLEANING SUPPLIES

Corridors	Item number	Item	Quantity	Approx. cost per item	Total
	117	Large frames	15	20	300
	118	A2 clear display frames	15	25	375
	119	Student lockers (set of 30)	1	£1,400	1400
Cleaning Cupboard	Item number	ltem	Quantity	Approx. cost per item	Total
Tymore y and the later and the second and the secon	120	All cleaning equipment and supplies (tbc)	1	£1,500	1500

CLASSROOMS

CLASSROOMS GROUP ROOMS ICT SUITE

Classrooms	Item number	Item	Quantity	Approx. cost per item	Total
And the second s	121	Desks	36	£152	5472
	122	Chairs (including full capacity spare)	72	£22	1584
	123	Teacher desk	4	£220	880
	124	Office chair	4	£50	200
	125	Tall cabinet	4	€300	1200
	126	Low cabinet	4	£250	1000
	127	Under desk drawer unit	4	£100	400
	128	Display board (small)	16	£50	800
	129	Whiteboard	4	£50	200
	130	Interactive teaching screen (in keeping with current school solution)	4	£1,500	6000
	131	Docking station and cables	A	€200	800
	132	Recycle Bin	8	£15	120
	133	Bin	8	£20	160
Group rooms	Item number	Item	Quantity	Approx. cost per item	Total
	134	Desks (shape tbc to seat 4-6)	4	£350	£1,400
	135	Chairs (including full capacity spare)	24	£22	£528
	136	Teacher laptop desk	4	£60	£240
	137	Office chair	4	£50	200
	138	Tall cabinet	4	£300	1200
	139	Low cabinet	4	€250	1000
	140	Under desk drawer unit	4	£100	400
	141	Display board (small)	4	£50	200
	142	Whiteboard	4	£50	200
	143	Interactive teaching screen (in keeping with current school solution)	4	£1,500	6000
	144	Docking station and cables	4	€200	800
	145	Recycle bin	4	£15	60
	146	Bin	4	£20	80
ICT Suite	Item number	Item	Quantity	Approx. cost per item	Total
	147	Workbench for 9 desks and fitting, cable costs	1	£2,000.00	2000
	148	Computer, keyboard, and mouse	9	£750	6750
	149	Chairs for computers (no wheels)	9	£50	450
	150	Desks	9	£125	1125
	151	Chairs	18	£22	396
	152	Teacher desk	1	£220	220
	153	Office chair	11	£50	550
	154	Tall cabinet	1	£300	300
	155	Low cabinet	1	£250	250
	156	Display board	4	£50	200
	157	Whiteboard	1	£50	50
	158	Interactive teaching screen (in keeping with current school solution)	1	£1,500	1500
	159	Docking station and cables	1	£200	200
	160	Recycle bin	2	£15	30
	161	Bin	2	€20	40

OUTDOOR AREAS

GRASS AREA SPORTS COURT SIDE OF BUILDING THERAPY GARDEN FRONT OF BUILDING

Out	door areas	Item number	Item	Quantity	Approx. cost per item	Total
	1. Zone 1: Grass area	162	Plants, large potted trees, shrubbery, and sleepers for perimeter	1	£2,000	2000
4		163	Re-seed or resurface of area.	1	£3,000	3000
1.	Zone 1. Orașs area	164	Picnic bench seating	4	£615	2460
	Zone 2; Sports court	165	Outdoor table tennis table	1	£1,500	1500
		166	Resurface of current termac court	1	0	0
2.	Zanc A. Snorte nourt	167	Football goal	2	£350	700
۷.	2. Zone 2; sports court	168	Wall mountable basketball hoop	1	£100	100
		169	Other sports equipment (basketballs, tennis balls, footballs etc)	1	£200	200
:		170	Paving of whole zone	1	28,000	8000
3.	Zone 3: Side of Building	171	Outside seating for café / bistro or bench style (seat 30-50)	6	£615	3690
		172	Outdoor waste bin	1	£320	320
		173	Benches (could be built in to sleeper planters)	4	€400	1600
4.	4. Zone 4: Therapy Garden	174	Sleepers and materials required to build 3 planters and 1 perimeter planter	1	£1,000	1000
		175	Shed for gardening tools (layout dependent)	1	£185	185
		176	Bench / seating for group teaching outdoors and therapy work	4	£500	2000
5.	Zone 5: Front of Building	177	Bike Shed / Bike Storage- max 10 bikes	1	£1,500	1500

CINEMATOGRAPHY STUDIO

STUDIO STORE FILM & PHOTOGRAPHY STUDIO

Media studio store	Item number	ltem	Quantity	Approx. cost per item	Total
	178	Wall-mounted lockable storage	1	£300	£300
	179	Desk / benching	1	£400	£400
	180	Office chairs	1	€50	£50
	181	Lockable storage cupboard	1	£270	£270
	182	Freestanding shelving unit	1	£25	€25
	183	Under desk drawer unit	2	£100	€200
	184	Recycling bin	1	£15	£15
	185	Bin	1	£20	€20
	186	Outdoor storage shed	1	£240	€240
	187	Shelving units	3	£20	260
	188	Cables and accessories	1	£200	£200
Cinematography studio	Item number	Item	Quantity	Approx. cost per item	Total
	189	Large studio desk	1	€500	500
	190	Studio chairs	2	€80	160
	191	Portable sit-stand desk with dual monitor arm	1	£150	150
	192	3-seater sofa (colour TBC)	1	€400	400
	193	Temperature controlled lamp	2	930	60
	194	Coffee table	1	£100	100
	195	Interactive teaching screen (in keeping with current school solution)	1	£1,500	1500
	196	Recycling bin	1	£15	15
	197	Bin	1	£20	20
	198	Sony A7SII	3	£500	£1,500
	199	24-70mm Sigma art lens	4		£4,000
	200		1	£1,500	£1,500
	201	Sony A7RIII	1	£1,000	£1,000
	202	85mm Sigma tens	1	CONTRACTOR OF THE PARTY OF THE	£1,804.00
		Godox DP1000IIIV Three Head Studio Flash Lighting Kit	Carried Control of the	£1,804.00	THE RESERVE OF THE PARTY OF THE
	203	Aputure Nova P300c	2	£1,800	£3,600
	204	Aputure Amaran F21c	8	€588	£4,704
	205	Aputure Amaran F22c	2	€870	£1,740
	206	Aputure INFINIBAR PB12 4 Light Kit - UK	1	£1,400	£1,400
	207	Aputure LS 600d CoB	2	€1,000	£2,000
	208	NEEWER 2 Pack 305cm/320cm Heavy Duty Stainless Steel C Stand	3	£289	£867
	209	Manfrotto Avenger Wind Up Low Base Stand	1	£850	£850
	210	Manfrotto MAN-425B Mega Boom - 12' (3.6m)	1	£950	€950
	211	Bolluma 3.6x3.6m 12'x12' Soft White Butterfly Diffusor Heavy			
		Duty Frame Collapsible Screen with 2pcs Heavy Duty C-Stands	1	£750	£750
	212	Grip extras	1	1000	1000
	213	Capture One software	1	£299.00	£299.00
	214	Lighting control desk	1	£700	£700.00
	215	Rode Rodecaster pro 2	1	£522.50	522.5
	216	Rode Rodecaster video	1	€750	750
	217	Lewitt Ray Microphones	4	€250	1000
	218	Sony ZVE10 with 16-50 lens	3	2500	1500
	219	SD Cards and extra podcasting accessories	1	£1,000	1000

EDITING SUITE

FOR FILM, GRAPHICS, PHOTOGRAPHY AND AUDIO EDITING

Editing suite		item .	Quantity	Approx. cost per item	Total
	220	Apple Pro App bundle	11	£166	1826
	221	M4 Mac mini 16gb 512gb W/Edu discount	8	£640	5120
	222	Davinci resolve studio	8	£229	1832
	223	Interative monitor (in keeping with current school solution)	1	£1,595	1595
	224	HP Z27K 27" G3 3840 X 2160 4K monitor - Silver	8	£459.99	3679.92
	225	SONY MDR-7506/1 Professional headphones	8	£70.83	566.64
	226	XTREME Mac USB-C wired keyboard for Mac-Silver	8	£42.74	341.92
	227	XTREME Mac USB-C wired mouse for Mac - Silver	8	£17.09	136.72
	228	NETGEAR XS728T 24-Port Smart Managed 10-Gigabit Switch w/ 4x SFP+ ports	1	£1,919.82	1919.82
	229	Network, Power and Video Cabels. Power Dist, etc.	1	£1,000	1000
	230	Colour changing LED strip lights 30m	1	£39.99	39.99
	231	Bench dividers (pack of 6)	2	£58.45	116.9
	232	Adjustable office chair	8	£41,32	330.56
	233	Desk/ benching	10	£135.95	1359.5
[234	Portable sit-stand desk with dual monitor arm	1	£150	150
[235	Stool	1	250	50
	236	Temperature controlled lamp	1	€30	30
	237	Desktop printer	1	£300	300
	238	Large potted indoor plant	1	989	80
	239	Recycling bin	1	£15	15
	240	Bin	1	£20	20

HYBRID & FOLEY STUDIOS

FOR AUDIO RECORDING AND ADVANCED FILM AND AUDIO EDITING

lybrid and Foley studios	Item number	ltem	Quantity	Approx. cost per item	Total
	241	Studio chairs	2	£80	160
	242	Small 2-seater sofa (black)	1	£300	300
	243	Stool	5	£50	250
	244	Temperature controlled lamp	3	£30	90
	245	Recycling bin	2	£15	30
	246	Bin	2	€20	40
	247	Sink and unit	1	£265	265
	248	Above sink lookable storage units	1	£300	300
	249	Folding table and x4 chairs	1	€100	100
	250	Streamdeck	1	£230	€229.99
	251	Editor keyboard	1	£200	200
	252	DaVinci Resolve Micro Color Panel	1	£425	425
	253	Small TV monitor wall Mount VESA compatible for 32-inch monitor	1	£23.09	23.09
	254	XTREME MAC USB-C WIRED MOUSE FOR MAC - SILVER	1	£17.09	17.09
	255	MediaLight Mk2 Flex 6500K CRI 98 Bias lighting 2m for 32-inch monitor	1	£49.95	49.95
	256	ASUS ProArt Display PA32UCR-K Professional monitor	1	£1,105	1105
	257	Genelec 8340A	2	£992	1984
	258	Mac Studio w/Edu discount	1	£1,840	1840
	252	NETGEAR XS728T 24-Port Smart managed 10-Gigablt switch		CONTRACTOR	
	259	w/ 4x SFP+ ports	1	£1,919.82	1919.82
	260	OWC Thunderbolt dock	1	£250	250
	261	BMD Hard drive dock	1	£500	500
	262	MIDI Keyboard - 88 note with sustain pedal	1	€400	400
	263	PreSonus FaderPort 8 USB production controller	1	£315	315
	264	Studio desk -Furniture with keyboard tray and meter bridge	1	2800	800
	265	Plugin Bundle - Waves or iZotope	1	£350	350
	266	Synology Flashstation FS2500	1	£1,800	1800
	267	Synology 1tb Enterprise SSD	12	£305	3660
	268	Sound Devices Mix Pre 10ii	1	£1,800	1800
	269	Sennheisser MKE 600	2	£225	450
	270	Sennheiser EW 512 P G4 Pro Camera Lavaller MKE 2 Set	3	£895	2685
	271	PunchLight Dli	1	£210	210
	272	PunchLight GPI (For Green Screen / Photography Studio)	0	0	0
	273	Punchlight Studio warning display (Record)	2	£179.47	358.94
	274	Punchlight desktop Studio warning lamp	1	£82.04	82.04
	275	STARTECH USB-C to dual gigabit ehternet adapter with USB	1	£79.99	79.99
	276	Rode NT5-MP stand bundle	1	£315	315
	277	AKG C414 XLS stereo bundle	1	£1,666	1666
	278	K&M 27195 Mic boom stand - Black	6	£45.70	274.2
	279	K&M 29376 Microphone table base	1	£86.20	86.2
	280	Shure SM7B	6	£362.50	2175
	281	Rode RODEPSA1+ Professionl microphone boom arm	6	£99,17	595.02
	282	Focusrite R16 Redline	1	£2,000	2000
	283	REdnet R1 +MP8R	1	£1,000	1000
	284	Thunderbolt cable 1.8m	1	£110	110
	ACTUAL DESIGNATION OF THE PARTY		1		Contraction of the last of the
	285	Pro Tools Ultimate 1-Year subscription - Education	1	£250	250

OTHER STUDIO REQUIREMENTS

STUDIO LOBBY ACOUSTIC TREATMENTS STUDIO INFRASTRUCTURE

Lobby		Item	Quantity	Approx. cost per item	Total
	287	Large potted indoor plant	2	280	160
	288	Branding signage	1	£1,500	1500
	289	A2 frames	4	€25	100
	290	Weatherproof A-frame sandwich boards	3	250	150
Acoustic treatments		Item	Quantity	Approx. cost per item	Total
	291	Foam acoustic panels (pack of 60)	5	£37.49	187.45
	292	Wedge corner bass trap 3ft acoustic studio foam	50	£26.99	1349.5
	293	Fabric wedge corner base traps (pack of 2)	6	£258	1548
	294	Bass trap panels (pack of 4)	5	£100	500
	295	Bass trap corner fill acoustic studio foam blocks	20	£17.99	359.8
	296	Acoustic panels - wood	14	£155	2170
	297	Diffusion Panels	1	£4,000	4000
Studio infrastructure	Item number	Item	Quantity	Approx cost per item	Total
	298	NETGEAR M4300-24XF managed switch (XSM4324FS-100NES)	2	£2,208.58	4417.16
	299	NETGEAR AXM763-I Compatible 10GBASE-LRM SFP+ 1310nm 220m duplex LC/UPC SMF Optical transceiver module	16	€25	400
	300	Rack hardware PC SUM	1	£400	400
	301	Fibre cable Infrastructure PC SUM	1	£1,800	1800
	302	CAT7 cable Infrastructure PC SUM	1	£1,800	1800